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The Greek Depression

e In 2007, Greek GDP per capita was around $35,000 and the
unemployment rate was 8.4%.

e In 2014, Greek GDP per capita was around $25,000 and the
unemployment rate was 26.6%

e What happened?



Outline

e Empirical investigation: Was Greece really that bad?

o Yes
e Much worse than emerging market sudden stops
e Even for ‘strict peggers’

e Model-Based investigation: Why?

e Because Greece caught an EM disease with AE leverage ratios
e What would have helped?

Less leverage
Banking union
Fiscal discipline
More flexible prices



30

20

10

-10

-20

-30

GDP Relative to All Sudden Stops
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Compared to EM Floaters & Peggers

Output per capita relative to t-2, EME sudden stops (log points)
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Endogenous Peg?

Output per capita relative to t-2, EME sudden stops (log points)
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Sovereign Default? Credit Bust?... Trifecta
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Model

e SOE in a currency union (r,z")
e Standard NK DSGE

e Government

e Banks
e Households (B, C)
e Firms (/,K)

e Various shocks
¢F = P#Cil +otell



Government

e Budget constraint
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e Fiscal rule (spending and social transfers)
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e Tax rate
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Households

e Same prefences over consumption and hours worked. Different
discount factor (Bs > Bs).
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Non-Financial Firms

e For simplicity, break down into capital- and goods-producing
firms.
e Capital-producing firms:
e Convert consumption goods into capital, and rent to
goods-producing firms.
e Q rule for investment.
e Goods-producing firms:

e Convert capital and labor into goods.
e Cobb-Douglas with constant TFP.
e Financing friction: pay part of wage bill in advance.



Price and Wage Rigidity

e Phillips curve for wages
m) = BEm) — A" (we —yer —@ne) + 5
e Phillips curve for prices
Topt = Apmce + BE w1 + ¢,

where mc; is log marginal cost.



Banks

e Lend to households and firms.

e Subject to capital requirement
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where V; is franchise value.



Funding Costs

o Key equations

e Banks fund households and firms
=

e Banks: sudden stop and capital loss

o= e+ + LR [df]
df = —Jth-f-Jbbt—l-l—CtdEf
e Government
g = rn+df

a8 = JgB—Yg (bf —E¢[ye41] —Ee |:7rl{7+1:| + Ctdg)



Doom Loops

e Sovereign risk shock (7
e Government funding costs increase — Government raises taxes
and reduces expenditure — Output declines — Expected costs
of default on private-sector loans increase — Funding costs for
private sector increase and investment drops.

e Sudden stop {/:

e Funding costs for private sector increase — Output and
investment drop — Fiscal revenues drop — Expected costs of
default on sovereign loans increase — Government funding
costs increase.
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Fit of the Model
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Decomposition of Output
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Decomposition of Investment
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Counterfactual I: EME Leverage

Greece Typical EME  Min Max

Credit / GDP 0.81 0.46 0.025 1.46
Sovereign Debt / GDP  1.08 0.35 0.063 0.68
Current Account -0.12 -0.04 -0.10 +0.17

Table: Leverage and Imbalances Before Sudden Stop

Notes: Average from t-6 to t-2 where t is sudden stop.



Counterfactual I: EME Leverage

GDP Investment
0.15 0 LALN 2
4
0.1 /
0.05 02}/
0
0.05 -0.4
-0.1 Data
-0.6 == = CFact
-0.15 Model
2000 2005 2010 2015 2000 2005
Current Account/GDP Govt. Spending
0.3 7
0.04 I
| —
0.02 | 7 0.2
0 — /
i
-0.02 01 y/R
-0.04 V4
obp=?
-0.06 g
-0.08 ‘ -0.1

2000 2005 2010 2015 2000 2005



Counterfactual Il: Banking Union
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Counterfactual Ill: No Discretionary Spending
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Counterfactual V: Low Price Stickiness
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Conclusion: What Would Have Helped?

e What we can say

Exposure Y+10%, 1+15%

Banking union Y+10%, 14+30%
Sound fiscal Y+15%, 14+20%

More flexible prices Y4+15%, 1+20%

e Open issues

e Early sovereign default?
o Devaluation?



